Let’s recap ‘Bus Stop’ division!

Use the bus stop method to find the answer to:

482 = 2

(answer on the next slide!)



482 + 2 =
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Did you get it right? If not, don’t worry. Just go back to yesterday’s
slides for a thorough recap.



Now let’s try this one....

76 + 2 =

First, we divide 7 by 2:
7 (tens) + 2 =

If we share 7 (tens) into two groups
we have 3 in each group and 1 (ten)
left over (remainder 1)

N W

We therefore need to put 3 above
the 7 in the tens column and then
carry this remaining ten into the
ones column.



76 + 2 =

3 8 Next, we must divide 16 by 2:

16+2=8
1 / Put the 8 above the 6 in the ones
2 7 6 column.




Now let’s try this one....

52 +4 =

First, we divide 5 by 4:
5 (tens) +4 =

If we share 5 (tens) into 4 groups we
have 1 in each group and 1 (ten) left

1
4 5 over (remainder 1)

We therefore need to put 1 above
the 5 in the tens column and then
carry this remaining ten into the
ones column.



52 +4 =

1 3 Next, we must divide 12 by 4:

12+4=3
ZI / Put the 3 above the 2 in the ones
4 5 2 column.

52+4=13



Now try this one....

65+ 5=
5|6 5

...the answer is on the next slide!



65+5= 13

1 3

1

5(6 5

Did you get it right?
If not, go back to the previous slides and work through the
examples again!



What about this one?

90 +5=

5|9 0

The answer is on the next slide!



90+ 5= 18
1 8
519 0

Remember to go back to the previous slides if you didn’t get this one right!



Sometimes, a number can not be shared equally; for
example:

9+2=

If | share 9 into 2 groups, | have 4 in each group and 1 left
over (remaining).

We write 9:+2=4r]1



With this in mind, look at the following example:

32r1
319 7

97 +3= 32r1



4|8 5



2 1.

4|8 5



And

this...

3|4 7






CHOOSE TODAY’S ACTIVITY!

How confident do you feel with ‘bus stop’ division?

Still not sure

Go back and recap
yesterday’s slides and
then try MILD

Very confident! Confident (ish!)
Choose HOT Choose SPICY

(Activities saved separately)



